bxercises

In Exercises 1 to 4, determine the point estimator you

would use and calculate the valte of the point estimate. —Po it £ s~l- ) M Q+o r [“ S

. Got shoes? How many pairs of shoes, on average, do —+- h e S—h&—'— E s T'\C. +0

. fernale teens have? To find out, an AP Statistics class *

conducted a survey. They selected an SRS of 20 - C;?ﬁ.th'ma“ﬁ_, —f—bi
female students from their school. Then they
recorded the number of pairs of shoes that each: - FPOQ Vi 1 Q«*'h\(.}/] me e

student reported having. Here are the data:
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15. Shoes The AP Statistics clags in Exercise 1 also asked

+-+ an SRS of 20 boys at their school how many shoes

theyhave. A 95% confidence interval for the

difference in the population means (girls — boys) is

10.9t0 26.5. Interpret the confidence interval and the -
confidence level, -
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Multiple choice: Select the best answer for Exercises 21
to 24.

21. A researcher plans to use a random sample of n =
500 families to estimate the mean monthly family
income for a large population. A 99% confidence
interval based on the sample would be than a
90% confidence interval.

(a) narrower and would involve a larger risk of being

incorrect
wider and would involve a smaller risk of being

incorrect

(¢) narrower and would involve a smaller risk of
being incorrect

. (d) wider and would involve a larger risk of being
I incorrect

(e) wider, but it cannot be determined whether the
risk of being incorrect would be larger or smaller

I~
P~

- Ina poll,
I. Some people refused to answer questions.
II. People without telephones could not be in the
sample.
1. Some people never answered the phone in

several calls.
Which of these sources is included in the +2%

margin of error announced for the poll?
(a) Tonly (c) HTonly @None of these
(b) Ilonly (d) I,1I, and I

23. You have measured the systolic blood pressure of an
SRS of 25 company employees. A 95% confidence

interval for the mean systolic blood pressure tor the
employees of this company is (122, 138). Which of
the following statements gives 2 valid mterpretation
of this interval? -

(a) 95% of the sample of employees have a systolic
blood pressure between 122 and 138.

(b) 95% of the population of employees have a
systolic blood pressure between 122 and 138.
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f the procedure were repeated many times, 95%
e resulting confidence intervals would contain
the population mean systolic blood pressure.
(d) The probability that the population mean blood
pressure is between 122 and 138 is 0.95.

(e) Ifthe procedure were repeated many times, 95%
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24. A polling organization announces that the proportio
of American voters who favor congressional term
limits is 64%, with a 95% confidence margin of erro
of 3%. If the opinion poll had announced the margi
of error for 80% confidence rather than 95%
confidence, this margin of error would be

of the sample means would be between 122 and 138.
o - (a) 3%, because the same sample is used.
e @ess than 3%, because we require less confidenc

() less than 3%, because the sample size is smaller

(d) greater than 3%, because we require less
confidence.

(e) greater than 3%, because the sample size is
smaller.



